

Kragujevac J. Math. 23 (2001) 85–91.

ON POSTIAN EQUATIONS

Dragić Banković

Faculty of Science, P. O. Box 60, 34000 Kragujevac, Yugoslavia

(Received Jun 4, 2001)

Abstract. In this paper we give a survey on solving postian equations. We also give a reproductive general solution of postian equation in n unknowns (Theorem 13).

General solution of an equation was known in various fields of mathematics. The general solutions were very extensively studied in boolean algebras. Löwenheim [9], [10] gave a great contribution to the research of general and reproductive general solutions of boolean equations. Various form of general and reproductive general solutions were developed by Rudeanu [14], [15], [16]. Banković [1], [2] gave some methods for solving boolean equations.

A generalization of boolean algebras are Post algebras. The axioms and fundamental theorems can be found in Epstein's paper [8]. Serfati [17], [18] developed some methods for solving postian equations. A contribution to the solving postian equations was given by Banković [3], [4], [5], [6].

Let P be an r -Post algebra with underlying chain $C = \{0 = e_0 < e_1 < \dots < e_{r-1} = 1\}$ where r is an integer and $r \geq 2$. Let $x \vee y$ and $x \cdot y$ denote supremum and infimum of the elements x and y , respectively.

Theorem 1 [2]. *Every element $x \in P$ has the unique representation in the form $x = \bigvee_{i=0}^{r-1} e_i x^i$, where x^i (boolean elements, called postian components of x) satisfy the orthonormality condition*

$$\bigvee_{i=0}^{r-1} x^i = 1 \quad \text{and} \quad i \neq j \Rightarrow x^i \cdot x^j = 0. \quad (1)$$

The pseudo-complement x^* of an element $x \in P$ is defined as

$$x^* = \max\{y \mid x \cdot y = 0 \wedge y \in P\}.$$

If $z \in P$ and there exists an element $\bar{z} \in P$ satisfying the conditions $z \vee \bar{z} = 1$ and $z \cdot \bar{z} = 0$ then \bar{z} is called the complement of z .

One can prove

$$x^0 = x^* \quad \text{and} \quad (\forall i \in \{0, 1, \dots, r-1\}) (x^i)^0 = \bar{x}^i.$$

Theorem 2 [2]. *For each $i \in \{0, 1, \dots, r-1\}$*

$$(x^i)^{r-1} = x^i, \quad (x^i)^j = 0 \quad (0 < j < r-1), \quad (x^i)^0 = \bigvee_{\substack{k=0 \\ k \neq i}}^{r-1} x^k = \bar{x}^i.$$

Let $X = (x_1, \dots, x_n)$ and $T = (t_1, \dots, t_n)$.

Definition 1. Let $f, g_1, \dots, g_n : P^n \rightarrow P$ be postian polynomials and $G = (g_1, \dots, g_n)$. Formula $X = G(T)$ represents the general solution of the consistent postian equation $f(X) = 0$ if and only if

$$(\forall X \in P^n) f(G(X)) = 0 \wedge (\forall X \in P^n) (f(x) = 0 \Rightarrow (\exists T \in P^n) X = G(T)).$$

Definition 2. Let $f, h_1, \dots, h_n : P^n \rightarrow P$ be postian polynomials and $H = (h_1, \dots, h_n)$. Formula $X = H(T)$ represents the reproductive general solution of the consistent postian equation $f(X) = 0$ if and only if

$$(\forall X \in P^n) f(H(X)) = 0 \wedge (\forall X \in P^n) (f(X) = 0 \Rightarrow X = H(T)).$$

POSTIAN EQUATIONS IN ONE UNKNOWN

Theorem 3 [18]. *If f is a postian polynomial with variable x , then*

$$f(x) = \bigvee_{i=0}^{r-1} z_i x^i.$$

Theorem 4 [18]. *Let $f(x) = \bigvee_{i=0}^{r-1} z_i x^i$ be a postian polynomial, where $z_i = f(e_i)$ ($i = 0, 1, \dots, r-1$). The equation $f(x) = 0$ is consistent if and only if $z_0 z_1 \cdots z_{r-1} = 0$. In that case the solution of $f(x) = 0$ is*

$$x = \bigvee_{i=0}^{r-1} z_i^* e_i.$$

Theorem 5 [18]. *Let $f(x) = \bigvee_{i=0}^{r-1} z_i x^i$ be a postian polynomial, where $z_i = f(e_i)$ ($i = 0, 1, \dots, r-1$). If p is a particular solution of the equation $f(x) = 0$ then the formula*

$$x = f^*(t) \cdot t \vee \overline{f^*}(t) \cdot p$$

represents the general reproductive solution of $f(x) = 0$.

Theorem 6 [3]. *Let $f(x) = \bigvee_{i=0}^{r-1} z_i x^i$ be a Postian polynomial, where $z_i = f(e_i)$ ($i = 0, 1, \dots, r-1$). If the equation $f(x) = 0$ is consistent ($z_0 z_1 \cdots z_{r-1} = 0$) then the formula $x = \phi(t)$ represents the reproductive general solution of $f(x) = 0$ if*

$$\phi(t) = \bigvee_{k=0}^{r-1} (z_k^* e_k \vee \overline{z_k^* z_{i_{k,1}}^*} e_{i_{k,1}} \vee \cdots \vee \overline{z_k^* z_{i_{k,1}}^*} \cdots \overline{z_{i_{k,r-2}}^* z_{i_{k,r-1}}^*} e_{i_{k,r-1}}) t^k$$

and

$$(\forall k \in \{0, 1, \dots, r-1\}) \quad \{k, i_{k,1}, \dots, i_{k,r-1}\} = \{0, 1, \dots, r-1\}.$$

Theorem 7 [6]. *Let $f(x) = \bigvee_{i=0}^{r-1} z_i x^i$ be a Postian polynomial, where $z_i = f(e_i)$ ($i = 0, 1, \dots, r-1$). If the equation $f(x) = 0$ is consistent ($z_0 z_1 \cdots z_{r-1} = 0$) then*

the formula $x = \phi(t)$ represents the general solution of $f(x) = 0$ if

$$\phi(t) = \bigvee_{k=0}^{r-1} (z_{i_{k,0}}^* e_{i_{k,0}} \vee \overline{z_{i_{k,0}}^*} z_{i_{k,1}}^* e_{i_{k,1}} \vee \cdots \vee \overline{z_{i_{k,0}}^*} \overline{z_{i_{k,1}}^*} \cdots \overline{z_{i_{k,r-2}}^*} z_{i_{k,r-1}}^* e_{i_{k,r-1}}) t^k$$

and

$$(\forall k \in \{0, 1, \dots, r-1\}) \quad \{i_{k,0}, i_{k,1}, \dots, i_{k,r-1}\} = \{0, 1, \dots, r-1\},$$

and

$$\{i_{0,0}, i_{1,0}, \dots, i_{r-1,0}\} = \{0, 1, \dots, r-1\}.$$

Comment. One can prove that $z_{i_{r-1}}^*$ can be omitted from the previous formulas.

POSTIAN EQUATIONS IN n UNKNOWNNS

Let $R = \{0, 1, \dots, r-1\}$.

Theorem 8 [8]. *If f is a postian polynomial with the variables x_1, \dots, x_n , then*

$$f(x_1, \dots, x_n) = \bigvee_{(i_1, \dots, i_n) \in R^n} f(e_{i_1}, \dots, e_{i_n}) x^{i_1} \cdots x^{i_n}.$$

Theorem 9 [18]. *Let f be the postian polynomial with the variables x_1, \dots, x_n . The equation $f(x_1, \dots, x_n) = 0$ is constant if and only if*

$$\prod_{(i_1, \dots, i_n) \in R^n} f(e_{i_1}, \dots, e_{i_n}) = 0.$$

Theorem 10 [5]. *Let $f(X) = 0$ be a consistent postian equation in n unknowns. The formula $X = G(T)$, where $G = (g_1, \dots, g_n)$, represents the general solution of $f(X) = 0$ if and only if*

$$(\forall X \in P^n) f^*(X) = \left(\prod_{B \in R^n} \bigvee_{k=1}^n \bigvee_{i=0}^{r-1} (G_k(B))^i \overline{(x_k)^i} \right)^*.$$

Theorem 11 [5]. *Let $f(X) = 0$ be a consistent postian equation in n unknowns. The formula $X = G(T)$, where $G = (g_1, \dots, g_n)$, represents the reproductive general solution of $f(X) = 0$ if and only if*

$$(\forall X \in P^n) f(g(X)) = 0 \wedge f^*(X) = \left(\bigvee_{k=1}^n \bigvee_{i=0}^{r-1} (G_k(X))^i \overline{(x_k)^i} \right)^*.$$

Theorem 12 [4]. *Let $G = (g_1, \dots, g_n)$ and $H = (h_1, \dots, h_n)$, where $g_1, \dots, g_n, h_1, \dots, h_n$ are postian polynomials in n variables. If f is a postian polynomial and formula $X = G(T)$ represents the general solution of equation $f(X) = 0$, then formula $X = H(T)$ represents the reproductive, general solution of $f(X) = 0$ if and only if there exist postian polynomials p_1, \dots, p_n in n variables such that*

$$H(T) = f^*(T) \cdot T \vee \overline{f^*}(T) \cdot H(P(T))$$

where $P(T) = (p_1, \dots, p_n)$.

Theorem 13. *Let f, p_1, \dots, p_n be postian polynomials in n variables. If $P = (p_1, \dots, p_n)$ is the particular solution of $f(X) = 0$, then the formula*

$$X = f^*(T) \cdot T \vee \overline{f^*}(T) \cdot P$$

represents the reproductive general solution of $f(X) = 0$.

Proof. The given formula satisfies equation $f(X) = 0$ by the proof of Theorem 12. The reproductivity follows from

$$f(X) = 0 \Rightarrow f^*(X) \cdot X \vee \overline{f^*}(X) \cdot P = 0^* \cdot X \vee \overline{0^*} \cdot P = X.$$

Theorem 13 describes all reproductive general solutions of the given postian equation, if a general solution of that equation is known. It would be interesting to describe the all general solutions of a given postian equation, if a general solution of that equation is known.

Acknowledgment: Author should very much like to express his thanks to Professor Sergiu Rudeanu, who presented this paper on Sympo '99 in Bucharest and to the other participants of Sympo '99 ASE for their human solidarity.

References

- [1] D. Banković, *Formulas of general reproductive solutions of Boolean equations*, Fuzzy sets and systems **75** (1995) 203-207.
- [2] D. Banković, *Formulas of general solutions of Boolean equations*, Discrete Mathematics **152** (1996) 25-32.
- [3] D. Banković, *General reproductive solutions of Postian equations*, Discrete Mathematics **169** (1997) 163-168.
- [4] D. Banković, *All reproductive solutions of postian equations*, Rev. Roumaine Math. Pures Appl. (to appear).
- [5] D. Banković, *A note on postian equations*, Multi Valued Logic **6** (2001) 1–10.
- [6] D. Banković, *General solutions of postian equations*, (submitted).
- [7] R. Beazer, *Function end equations in the classes of distributive lattices with pseudo complementation*, Proc. Edinburg Math. Soc. II Ser. **19** (1974), 191-203.
- [8] G. Epstein, *Lattice theory of Post algebras*, Trans. Amer. Math. Soc. **95** (1960), 307-317.
- [9] L. Löwenheim, *Über die Auflösungsproblem im logischem Klassenkalkul*, Sitzungsber. Berl. Math. Gesellschaft **7** (1908), 89-94.
- [10] L. Löwenheim, *Über die Auflösung von Gleichungen im logischem Gebietenkalkul*, Math. Ann. **68** (1910), 169-207.
- [11] S. Prešić, *Ein Satz über reproduktive Lösungen*, Publ. Inst. Math. (Beograd) **14** (28), 1972, 133-136.
- [12] G. Rousseau, *Post algebras and pseudo-Post algebras*, Fundam. Math. **67** (1970), 133-145.

- [13] S. Rudeanu, *On function end equations in distributive lattices*, Proc. Edinburg Math. Soc. 16 (1968) 45-54, and corrections **17** (1970), 105.
- [14] S. Rudeanu, *On reproductive solutions of Boolean equations*, Publ. Inst. Math. (Beograd) **10** (24) 1970, 71-78.
- [15] S. Rudeanu, *Boolean Functions and Equations*, North-Holland 1974.
- [16] M. Serfati, *Sur les polynomes postiens*, C. R. Acad. Sci. Paris Ser. A **276** (1973) 677-679.
- [17] M. Serfati, *Une méthode de résolution des équations postienness à partir d'une solution particulière*, Discrete Mathematics **17** (1977) 187-189.
- [18] M. Serfati, *On postian algebraic equations*, Discrete Mathematics **152** (1996) 269-285.